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1-The goal of pure science is to find out ............ of nature.

1. the objects 2. the concepts 3. the laws 4. the stages

2-Phenomena means:

1. events 2. event 3. truth 4. truths

3-Mass of cells and cell products in an animall body is .............

1. tissue 2. organ 3. organism 4. micro organism

4-Cumulative means :

1. organized 2. scientific 3. deacreasing 4. increasing
5-Metabolismis ................ in a living organism.

1. the process of reproduction 2. the process of vegetation

3. the total of all chemical processes 4. the process by which cells are divided
6-Certain insects live ............ on certain species of crops.

1. parasitic 2. parasitize 3. parasite 4. parasitically

7-Adequate means:

1. much 2. less 3. enough 4. many

8-Decomposers serve a useful purpose because they ................
1. obtain their food from waste products.
2. are very tiny micro organisms.
3. release dead plants from their habitats to use.

4. provide chemical material for plants to use.

9-What is the highest division in the animal kingdom?

1. the order 2. the class 3. the genus 4. the phylum

10-What are the Grouping and naming?
1. they are the two divisions of the world. 2. they are the two aspects of taxonomy.

3. they are the two classes of the kingdom. 4. they are sometimes written in italics.
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11-In botany, abbreviated words are sometimes used instead of whole words. abbreviated

1. divided 2. classified 3. shortened 4. supplied

1. generate 2. supply 3. capacity 4. aid

13-What does the sun,s heat?

-t

- |t condenses the water on the surface of the earth.

N

- It evaporates water from the surface of the earth.

w

- It warms the earth surface evently.

N

- It causes rain to fall upon the mountains.

14-What is the result of the condensed vapor in the air?

1. Heat 2. Rain 3. Solar energy 4. Radiant energy
15-The college of agriculture in this university was ............. in 1955.
1. associated 2. advanced 3. founded 4. attempted

16-What is the most important advance with man has ever taken?

1. the discovery of atom 2. the development of industry
3. the invention of writting 4. the birth of farming
17-Scientists tried to ........... the areas where farming began.
1. fertilize 2. lack 3. locate 4. improve

18-A study of the environment helps the farmer ..............
1. to alter aspects of the air and soil. 2. to domesticate natural pests and diseases.
3. to alter the natural limitations. 4. to improve output.

19-What is are the instruments for measuring atmospheric pressure and atmospheric humidity
respectively?
1. the barometer/the gauge 2. the hygrometer/the thermometer

3. the barometer/the hygrometer 4. the thermometer/the hygrometer
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20-Harvesting in warm, dry weather ...............
1. increases the need for artificial drying. 2. cuts down the need for natural drying.

3. increases the need for natural drying. 4. reduces the need for artificial drying.

21-Weathering is the process of ..............
1. making a soil mature. 2. repeated expansion and contraction.

3. the formation of soil. 4. the breaking down of rocks.

22-the process of the clustering of individual particles of the soil into crumbs is ............

1. proportion. 2. texture. 3. floccolation. 4. gritty texture.
23-Seeds do not .......... if the soil is too cool.
1. plant 2. germinate 3. reproduce 4. produce

24-Plant roots can absorb nitrogen, carbon, phosphorus and potassium .............
1. in all forms available in the soil. 2. only in the forms of certain compounds.

3. whenever they are abundant in the soil. 4. directly from dead plants and animals.

25-Previal means:

1. equal 2. huge 3. frequent 4. profound

26-Vegetative cover controls erosion by ...........

—r

- reducing the absorptive capacity of the soil

N

- reducing the soil-forming processes.

w

- reducing the beating force of the rain.

N

- reducing the amount of topsoil.

27-Where do farmers make teraces to reduce the runoff speed?

1. on leveling land 2. on smooth land 3. on sloping land 4. on arid land

28-What is the practice of planting two or more crops in alternate rows?
1. stubble-cropping 2. green manuaring

3. strip-cropping 4. mixture-cropping
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29-What is the meaning of the petiol?
1. stem of a leaf,flower or fruit. 2. something like wood.

3. stalk of a leaf. 4. stalk of a root and stem.

30-What is the meaning of dicotyledon?

-t

- largest group of flowering plants, containing 50,000 species

N

- largest group of angiosperms, containing 50,000 species

w

- largest group of woody plants, containing 200,000 species

N

- largest group of angiosperms, containing about 200,000 species

31-Why are seeds usually planted in the autumn or spring?

-t

- because of the absence of suficient temperature and moisture

N

- because of suficient temperature and moisture

w

- because of lack of suitable temperature and moisture

4. pecause of too low temperature and moisture

32-Drought means:
1. short period of rain 2. long period of rain

3. long period of no rain 4. short period of no rain

33-Most plants are inactive during their winter ...........

1. germination 2. reproduction 3. dormancy 4. viability

34-What does constitute the basis of all chains of food production?

1. Respiration 2. Photosynthesis 3. Chloroplast 4. Green plant
35-Germinating seeds must have .......... to water.
1. access 2. accessed 3. accessible 4. accessation
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